Solutions.

Station A

Evaluate. Show all steps.
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Station B

1. Circle the bigger fraction.
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2. Order these sets of fractions from
least to greatest by using equivalent

fractions.
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Station C

1. Write each number as a reduced

fraction
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Station D

Evaluate. T
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1. Evaluate

Station E
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Station F

1. Write in scientific notation.

a) 3450000000000 345x 10"

b) 0.000 000 000 000 000 000 000 12 r2x 10
c) 456 4.56 x 107

d) 0.34 2.4 x 107

e) 0.45 x 107 4.5 x 10”

H.5x10""

) 543 x 10" 5.43 x 10'°
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2. Write in expanded form.

a) 54X 10 -0.000 060 O5H
b) 42 x 107 0. 00472
c) -1.3576 x 10° — 135 360

d) 9.3 x 10° 423660



